#### U.T. Administration of Daman & Diu Directorate of Education, Near Jetty, Nani Daman – 396210

2682/ABEBMW/2017 No. DE/ADM/GHSS Zari-Bhimpore/Auction/2017-18/

Dated :- 21/11/2017.

#### **PUBLIC AUCTION NOTICE**

Public Auction of the unserviceable and irreparable items lying at Government Ashramshala, Zari, Moti Daman (Annexure-I) & Government Ashramshala, Bhimpore, Nani Daman (Annexure-II). The details of time and venue of the auction is as under:-

- 1. Government Ashramshala, Zari, Moti Daman on dated 29/11/2017 at 10.00 a.m. to 11.00 a.m.
- 2. Government Ashramshala, Bhimpore, Nani Daman on dated 30/11/2017 at 10.00 a.m. to 11.00 a.m.

The unserviceable and irreparable items lying at Government Ashramshala, Zari, Moti Daman and Government Ashramshala, Bhimpore, Nani Daman can be inspected by the interested persons during the school working hours i.e. 7.30 a.m. to 1.30 p.m.

#### **TERMS AND CONDITIONS OF AUCTION:**

- 1. This auction is on the condition "as is and where is" basis.
- 2. The starting bid amount will be consolidated "Upset Price" of the Items (school wise).
- 3. The auction shall be held on bid system. Interested bidder shall have to deposit a token amount of Rs.1000/- at the time of auction for taking part in it. The said amount shall be refunded back to the unsuccessful bidder after the auction.
- 4. The successful bidder has to deposit 50% of the offered bid on the spot by Cheque/Demand Draft in favour of the Assistant Director of Education, Nani Daman. The balance amount to be deposited within three days from the date of issue of letter accepting highest bid at his own cost by Cheque/Demand Draft in favour of the Assistant Director of Education, Nani Daman.
- 5. The bid should be offered a minimum Rs. 500/- (Rupees five hundred only) above on the upset price.
- 6. An offer shall be considered as highest and final only if the amount of bid offered by the bidder is announced consequently three times uninterrupted.
- 7. The successful bidder shall have to lift the auctioned unserviceable and irreparable items within Ten (10) days from the date of finalization of the auction. This department shall not be responsible for any loss/damage of the items if successful bidder fails to lift the items within stipulated time.
- 8. The interested parties should inspect the unserviceable and irreparable items and satisfy themselves about their conditions etc. during the school working hours i.e. 7.30 a.m. to 1.30 p.m. on any working day from Monday to Friday.
- 9. The bid shall be considered as final only after the approval of the Chairman, Auction Committee and his decision as regards shall be final and binding on all the persons participating in the auction.
- 10. In case of failure of the highest bidder to deposit the remaining 50% of total amount of his/her bid, the security deposit as made for eligibility to participate in the auction and the 50% amount already deposited will be forfeited to the Government.
- 11. The right to accept or reject any bid or all the bids without assigning any reason is reserved by the Committee.

12. Any violation of the Terms & Conditions would result in cancellation of the bid.

Assistant Director of Education Daman.

Ph. No. 0260-2255126

#### Copy to:

- 1. The DIO, NIC, Secretariat, Moti Daman with a request to upload the same on the official website of the UT Administration of Daman & Diu.
- 2. Notice Board for wide publicity.

### **ANNEXURE-I**

# List of unserviceable and irreparable items lying at Ashramshala, Zari, Moti Daman

GHSS ZARI								
Sr. No.	Item Description	Quantity Nos		Total	Consolidated Upset Price			
1	Wooden Bench and Desk	300	700	210000	***************************************			
2	Steel Bench & Desk Frame	315	200	63000				
Ashramshala Zari								
1	Wooden Cupboard	8	1200	9600				
2	Plastic Chair	32	20	640				
3	Old Refrigrator	1	400	400				
4	Water Cooler	3	350	1050				
5	Steel Cupboard	24	1200	28800				
6	Plastic Water Tank 5000L	1	200	200				
7	Flor Mill Stone	1	500	500				
8	MS Chair	30	50	1500				
9	Solar Water Heater Pannel	1	100	100				
10	Weighing Machine Big	1	300	300	0. 439260 / -			
11	MS Storage Tank	1	275 **	275	Rs. 439260/-			
12	Wooden Table	1	350	350				
Primary School Scrab Items								
1	Wooden Window with MS Grill	37	2100	77700				
2	Wooden Door	8	1400	11200	1			
3	Steel Cupboard	5	1200	6000	1			
4	Water Cooler	1	350	350	1			
5	G I Pipe (3.20m)	15	200	3000	1			
6	Revolving Chair	10	60	600	1			
7	Green/White Board	1	70	70	]			
8	MS Storage Tank	1	275	275	]			
9	Wooden Table	1	350	350	]			
10	Bench Desk with steel frame	115	200	23000	]			

Consolidated Upset Price is Rs. 439260/- (Rupees four lakh thirtynine thousand two hundred and sixty only)

(M.D. Patel) 201)

Assistat Director of Education

Daman.

## <u>List of unserviceable and irreparable items lying at Ashramshala,</u> <a href="mailto:Bhimpore">Bhimpore</a>, Nani Daman</a>

1 -	પંખા (FAN) પંખાની પાંખ – BLADE OF FAN કબાટ પતરાની – STEEL	110	250		
1 -	પંખાની પાંખ – BLADE OF FAN		750	07.500	
2		330		27,500	
	કબાટ પતરાની – STEEL		50	16,500	
	CUPBOARD	14	1200	16,800	
3	લોકર પરતાનું – STEEL LOCKER	03	1200	3600	
	કબાટ લાકડાની મોટી – WOODEN CUPBOARD BIG	03	1200	3600	Rs. 7,72,470/-
	કબાટ લાકડાની નાની – WOODEN CUPBOARD SMALL	05	1200	6000	
6	ગ્રીન બોર્ડ – GREEN BOARD	15	70	1050	7
	લાકડાના બોર્ડ – WOODEN BOARD	05	~ 70	350	15
	ટેબલ લાકડાનાં – WOODEN TABLE	03	350	1050	
9	ટેબલ પતરાનાં – STEEL TABLE	10	350	3500	
10	કોમ્પ્યુટર - CRT	25	100	2500	
11	કોમ્પ્યુટર મોનિટર LCD	13	350	4550	
12	કોમ્પ્યુટર CPU	30	450	13500	
13	કોમ્પ્યુટર UPS (POWER BETTERY )	20	50	1000	
14	કોમ્પ્યુટર KEY BOARD	15	50	750	
15	કોમ્પ્યુટર PRINTER	04	100	400	
16	કોમ્પ્યુટર MOUSE	05	15	75	
17	સ્પીકર લાઉડ સ્પીકર	02	50	100	
18	બારી ફ્રેમ સાથે – WINDOW	145	2100	3,04,500	
19	દરવાજા ફ્રેમ સાથે – DOOR	85	1400	1,19,000	
20	બેંચ લાકડાની ખરાબ હાલતમાં – WOODEN BENCH	250	700	1,75,000	
21	બેંય લોખંડનાં ફ્રેમવાળી ખરાબ હાલતમાં – STEEL BENCH	250	200	50,000	
22	ખુરશી લાકડાની ખરાબ	20	200	4000	
	હાલતમાં – WOODEN CHAIR		200	5000	
23	કોમ્પ્યુટર ચેર ખરાબ હાલતમાં		200	5000	
24	ફાયર સેફટી બોટલ	06	500	3000	
25	ખુરશી પ્લાસ્ટિક ખરાબ હાલતમાં- PLASTIC CHAIR	05	25	125	



1	26	કેરેટ પ્લાસ્ટિક ખરાબ હાલતમાં	05	20	100	
	(	– PLASTIC CARATE				
	27	યુલા લોખંડ ખરાબ હાલતમાં –	05	50	250	
		STEEL STOVE				
	28	સ્ટીલની ટાંકી – STEEL TANK	02	50	100	
	29	સ્ટીલના કમાન્ડર – STEEL	05	40	200	tac
		COMMANDAR				
	30	R.O.PLANT ટાંકી ખરાબ *	02	200	400	
		<b>હાલતમાં</b>				
	31	લેજીમ ખરાબ હાલતમાં	100	10	1000	
	32	ડમ્બેલ્સ	100	10	1000	
	33	ટ્યુબ લાઈટ ફ્રેમ	150	20	3000	
Ī	34	ટ્યુબ લાઈટ સળી	75	10	750	
	35	પેટી પતરાની – STEEL BOX	02	60	120	
	36	પેટી લાકડાની – WOODEN BOX	05	60	300	
	37	પરયુરણ સામાન પ્લાસ્ટિક –	90 KG	10	900	
		MATERIALS				
	38	પરયુરણ સામાન પતરા અને	90 KG	10	900	20
		લોખંડ – Miscellaneous steel				

Consolidated Upset Price is Rs. 7,72,470/- (Rupees seven lakh seventy two thousand four hundred and seventy only).

(M.D. Patel) 2011 Assistant Director of Education, Daman.